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Trigonometric
Forms

Sy DAL PN

1. | sinxdv=—cosx+ C 8. | csc’ xdx = —cot x + C

2. [cosxdx =sinx + C 9. l sec x tan x dx = sec x + C
3 | tan x dx = —log |cos x|+ C 10. | cscxcot xdx = —cscx + C
4. l cot x dx = log |sin x| + C 11 | sin? xdx =4x —§sin2x + C
5. J.secxd.\- = log |secx + tan x| + C 12. | cos?xdx =4x+4sin2x +C

6. [cscxdx:—log Jesc x + cot x| + C 13. [tanzxd.\'=tanx—.\'+C

7. fsec’.\-dx=tanx+('

14. Isec’xdx=§secxtanx+§log |sec x + tan x| + C

15. fsin‘xdx= —4 sin® x cos x — § sin x cos x + #x + C

16. [ms‘xdx={cos’xsinx+£cosxsinx+ix+C

-1

17. Jsin'xdx = -—lsin"'1 xcosx+ "sin"‘z x dx

n n
] 1 S n—1 —2
l8.jcos"xd::=—cos" xsmx+—jcos" x dx
n n

1
19. [tan"xdx:———tan""x— [tan""xdx
J n—1 J

20. Icot"xdx= - 'cot""x—fwt"’xdx
1 -
21. [sec"xdx: sec" 2 x tan x 4 = 2Ist:c""xdx
J n—1 n-—1
1 - n— -
22. [csc"xdx=—-——-—csc" Zxcotx 4 - [csc" 2 xdx
J n—| n—1/
1 1
23. fsin ax sin bx dx = —msin(a+b)x+~2—(—a—_—b)sin(a—b)x+C
24. | €0s ax cos bx dx=%i+7) sin(a+b)x+i;1:7) sin(a — b)x + C
1 |
25 [sinavcoshxde= — .— b)x — ——— -
} s bx dx Sarh) cos{a + b)x Z(a~b)cos(a b)x + C

26. [xsixixdx: ~xcos x +sinx + C
27. [xcosxdx:xsinx+cosx+C

28. | x?sinxdx = —x?cos x + 2x sin x + 2 cos x + C



29, Ix’oosx«lx=k’sin;x+ Ixcosx—2sinx + C
30. J.x"sin.\'d.\'-—- —x'cosx-rnjx'"cos.\'dx

3L I.\’.'cosxdx=x'sinx-—nfx"'“s’mx:lx

n"=" 1) cosnfl ~1
32 Isin".\'cos"xdx= _sin™ T i
m+n m+an

sin n"*} \‘oos" n—1;¢ .
= * 3 Ism" x cos” % x dx
m+n m+n

I sin"~ 2 x cos” x dx

Inverse 33. [arcsin xdv=xarcsinx + /1 -x?+C
Trigonometric Forms ’
k7§ f arccos x dx = x arccos X — /1 —x2 + C
3s. farctan X dx = x arctan x — log(x* + 1)+ C
36. Iarccotxdx=xarcootx+a}log(x’ +1)+C

3 farcsecx‘!x=xarmcx— log [x+ /= 1]+ C

38 jarowcxdx=xaromcx+log Ix+/x*-1]+C

Exponential 9. j Fdx=¢+C a3. [ x "a‘dx—l————i— j e dx + C
and Logarithmic & | oga Toga
Forms 40. [a"dv="—+C M. [~ dx=log|x|+C
loga x
4l.jxe‘dx=xe’—e"+C 45.Ilogxdx=xlogx-x+C

42. [xerdx = x'e* — n [ x*~tex dx
46. I (log x)* dx = x(log x)* — n I (log x)*~ tdx

47. [—r—dx = log |log x|+ C

48jx'logxdx —1——1x~“|g o P 'l),x-“+c

©. J'eusinbxdx=—e“——(asinhx—bcosbx)+C

50. [e"‘cosbxdx— < 2(acoslm+bsmbx)+C
a?

Hyperbolic Forms 5i. Jsinh xdx=coshx +C 54. J coth x dx = log |sinh x| + C
52. [ cosh x dx = sinh x + € 55. [ sech x dx = arctan(sinh x) + C

53. [ tanh x dx = log cosh x + C 56. [ csch x dx = log |tanh 4x| + C



57. f sech® xdy =tanhx+ C 60. ' csch xcoth xdx = —cschx + C
58. | csch? x dx = —coth x + C 61. | sinh? x dx = } sinh 2x — §x + €
59. | sech x tanh xdx = —sechx +C 62, [ cosh? x dx = § sinh 2x + §x + €
. o~ .
63. [ e sinhbrdx = , 2 (@ sinh bx — b cosh bx) + C
0 a” —

64. I ¢ cosh bx dx = ze"" b2 (4 cosh bx — b sinh bx) + C
. at —

Forms 65 | , - dv=_ log|>— |+C
Involving a2 - x2 ca _1" = x—
' 66. | - -———:-—dx = arcsin - + C
.[\/Ez_xz

61 [JaT= st dx =3 Ja" =¥ +2 arcsin +c
‘

68.J'x2 az—x’dx=%‘(sz—-az)\/rx—’+—§-armin)—;+c

/a® — x? /a? — x2
69-IL—x—dx—\/a ~x%—alog a++ +C
x

V% ]
70.I a 2--—x—dx=—)—i‘/a2—x2—arminj—;+c

71

o D RPN

I 1 —
73. = (X = — 2 _ x2 C
3 '[x’\/t—z’—x’“ a’x‘/a x‘ +
2 _ 2)3/2 X n 2 P e S . X
74. ((a - x?) d.\’=—§(2x - 5a*)\/a* - x +~—8—-~arcsm‘~1—+C
x
7. [(a x?)¥i2 dx = z"\ya‘i':';'i*’c

Forms 76. Ilz_l_,,z dx=—’arctan§+C
Involving x> + a2 x“+a ax
f./x’-&-a’dx:———,/x +a? +2 log|x + /x* +a*[+ C
78. |x1\/x T atdx = (2x +a?) /T + a? ——-loglv+fz+a |+ C
79. [\/x +a dx = /x* +a* —alog | —

x

0, [V2IE gem VI g e TR

81. J‘(xz +a?)dx = 3 Xx? + 5a*)\/x* +a* + 3: log [x + /% + a*|+ C

71.

~3

o




82 | "x=logl-"+\/-\'z+az|+('=sinh"z+C

’ 1
] \/_\,z:,‘az

83. | T dax=" VAR “"log [x+x2+a?|+C
N \/.\’2 +d? 2 2
. | 3 2 2
84. | d.\'=-|log at ¥t +a ’+(‘=—Isinh""+C
‘x \/_\.2 +d? a X a X
\/Y +a?
85. | R dx = —
\/\' +a? a’x
1 X
86. dx = +C
‘(V PP a’/x* + @
| 1 x—a
Forms 87 | = dx = log +C
. 2 dxt—a 2a x+a
Involving x* - a* . 1 I X
88. ‘ - \/'.2: ,_.::E- dx = armec ,"' C {
TX/Xx*—a ‘

/% D I N o Sl B e
89..|\/; a 2\/x a? 2log|t+\/x _a*|+C
90, fx’,/.\"--azdx:'--(2xz a?)fx?* - a* =" log [x + /¥ —a*|+C
91. '-vx:—a =/x* ~ a* — aarcsec '+C
- R /z'_ 2
9. |.—"—2—"-dx=—>/-——— - +log [x + /X =a?|+C

93, [( 2 1)3/2 dx—-- (2x? - 5a%)/x* - @ 3, 3 s 1o [x +/x} = a®|+C

—

94. | Ioglx+,/x’—a2|+C=cosh"z+C
95.‘\/____ —;,/ +~—log|x+\/x_:?|+C
J¥-a

96.]){2 xz__azdx= 5 +C
1 x

gl lcar iy~

Forms 98.f ——dv——l—!a+hx—alozIa-P'b\I)+C
- da+bx b
Involving a + bx o
99.’ dx = (a+bt)2 2a(a + bx) + a* log |a + bx| | + C
a+bt b3 2

100. | ———3dx -;l( Tor +log|a+bx|)+C

' (a+ bx)‘

a2
X 4 241 b
101. |(a+bx)2d b3(a+bx 7 b aog]a+ xl)
1
102. | —— l +C
[x(a+bx) g, +bx I



: 1 1
103. | , Ix = — I
' x(a + bx) ! axt a2 8

I 1 1 . x
o4 | av= . 4 1iog| -
' x{a + bx)? o ala + bx) + ot %8 la +ibx

b bx
la+‘ |y e

+C

Forms 105. [ xJa+bxdx = | 52”3 (3bx — 2a)(a + bx)*2 + C

Involving  /a + bx ) >on 312 5
106. I NJa+bxdy = 2a+ bxP - 2an Jx"‘ '\/t{-f-.h}c dx

b(2n + 3) b(2n + 3)
» - k]
107. [ Y dx= 1;2 (bx — 2a)\/a + bx + C

Ja+bx
;X" 25" Ja + bx
o e i s ol Jar®
‘/"--+-bx VAL c itaso
109 l.“‘_l’ = dx = \/ \/a+bx+\/—
’ x\/a-+ bx s arctan \/—:—fj +C fa<0
\/a +bx _b(2n=3) 1
1 dx = d
0'_4\“‘\/a+bx * “aln— 1 2“(""1)". ~i/a+ bx *

~——dx

11 | V—+ dx=2/a+bx+a j
x\/——+ bx
r/?’b\ i (a+bxp?  b2n-5) I ,/a + bx

- Taln—1)x""' " 2a(n—1)

112.

Forms 113. f,/Zax-Fd\—'-- - 2ax —x2 +—arccos (l )+C
Involving . /2ax — x2 2%? — ax — 3a? & x
114. IV,/Zav—xzd\-———————~——— 2ax—-x2+?arccos(l—;)+c

6
115. [UZax— dx = /2ax — x +aarocos(1——)+C
— z —
116. ")[E‘E‘m X dx = Zﬁa;x_« arccos(l ) +C

___.__dx

'[\/Zax x2

117. arccos(l - —) +C

2ax — x2 +aarccos(l ——) +C

118. [————~ x = —
4 JS2ax - x?

119 f x dt——x+3a,/2ax—xz+§a—2arccos(l~1‘-)+C
N Sax = 2 2 a

120. [ g 2

1 —
121. j dx=—2% L
- X
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1)  M.D. Raisinghania: Advanced Differential Equations. S. Chand and
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